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� �� ��� �� ���������

��� �����	

��� ��� ��	� ����
�� ���������� �� �
���� ����� �� 1 ��� ��� 8 ���� ������� �� ������� ����
���� 52.5 �� ��� 56.5 �� ���� ��	�� ���
� �� �� ��������� ���� ��� ������	� 
�
��������
�� ��� ������
 ����������� ���  �� ����
�� ��� ��������� ������� ��� ��� 
�
������ ��� ��
���� 6 ��� !�� �� ����
� ���������� �� ��� ������� ���� "�#�
����
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�
������ ������� ������ �� 57.0 �� ���
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���� ��&
	
���� �� 
�����

��� ��� �'�
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�������
� �� �
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������ �	� �� ��� ������	� ������������ )��
���� ���� �
�$� � ���� ���
������� ��
� �� ���� ������ ���� �� ��� ��
��� �
����$ 
���������� �� �� ����� �� �
���� 2 ���
!�� ��
����� ��* ���
��� ����
��� � 
�
� �� ����������$ ��� ���� ����������� ������ +� ���
,���� ����
� ���� ��� ������� ����������� ���� �� ������� ������ �� 53.5 �� ��� ��	�� ���
� ������� ���� Λ = 500 �� ������� �� � ��#����� ������� ���� Λ = 1000 �� 71.5 �� ���
����	���� ���� ���� ����� �������� 
�� ��
$ ≈ 13 �� ������ !� �
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���� -). ����	������� �� /�� ��  
�� "50 ��% �� � 1 �� ,� ���� 
�$�� ���
� ����
���������� �� ����
�� ��
		� 
��������� �� ��� ����
�� "6.2 · 10−7 ����%� � ������ 
����
�����
������� ����������� ���� ��� ����� ���� ��� ��	�� "���� 0�1�%� !�� ������� ����� ����� ��
�����
������
$ ���� ����������� ���� ���� 32.2 �� �� 23 �/s �� 74.4 �� �� 156 �/s�
��� ��� �������� ��������� ��� ���� ����
���
� ����	�� �� ��� ��#����� ����� �� ���
� �����
����� ���� ��	�� ��� ��� ,���� ����
��� 
������� �� �� ��������� !�� ������� ����� �����
���� ������� 28.4 �� ��� 40.4 �� ��� ��� ������ ��� 30.3 �� ��� 77.8 �� ��� ��� 
�����
"���� 0�1�%� !�� ��
������� ����� ���� ����������� ���� ��� ��
$ �������� ��� ��� �	�� ��
����
��� !�� ,� ������ ����
�� ���� � ��
������� ����� ���� ����� �� �#�
���� ����������
���� > 8 ���� 2������� ��� ��#����
�� ��� ���
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���� ���� �������� �����	 ���� �� ���������� ���� ��� ����� ������ �� ����� ������ ��������
���� �� ������	
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�� ������ ��� ������� �� ����!����� ����� ������������ ��� �������� ����� ����������� ���
������� ������� ��� ����� �� ����� ��� ����� "#��	 $	%& �� ���������� ���� �� ������	 ����
����������� �� ��� ����� '����� ��������	 #��	 $	%� ����� ��� 
� ������( ������� ��� � ���
)�*
� ������(�	 ��� ����� ���� ������� ��� ����������� �� ����� ������� ���� �� ������
��� �������� ��������� ��� �� ������� �� �� ±5 ��	 ��� ����� �� ����� �� ���������	
���  ������!����+(�� ����� �� �������� �� '� ����������� ������ �� ����������� ��������� ��
�,	 %	$� ����� �� ��� ���������� ���� �� -./	 #��� ����� ����� ����������� ��� ���������� ����
�,	 %	% ��� ������ ���������� ����� ���� �� ��� 
# � ����� �� ����� ����� �� #��	 $	%	 0�!
����� ��� ����� �������� ��1�������� 
 ������� ���� ���������� ��������� -2./� 
 ��� ���� ��
� '� ���������	 �� ������� ��� ����������� �� ����� ��+�� ��� ����������� ��� ��!���������� ����
��� '���� ��1�������� ��������� �������� ��� ����� �� 3 �� ±10 ��� ��������� �� ����� ��� ��!
��� ������ "������ �����&	 ��� '���� 
 ������ ��� ������� �� ������ ����� �� ���������� -./� -%4/
����� ���'��� ��� �����	 5������� ����� '�� �� ��� ������ ��� ����������� �� ������� 
 ����
������ ������� ����� ��+� �� �� ���	 -%4/	 6���������� ��� ������� ��1������ ���7����� �� ����� ���
��� ������� 3 "������ ����� �� #��	 $	%�&	 #�� ����������� ���  ������!����+(�� �����������
��� ��!���� ���� � �������� 
 �� 0.57 ��� ��� ������� �� ��������� �� -./	 ���� ��� ����� ��
�������� ���� �� ��� �������� ���� ������	

 ��� �����(���� �� ���� ��� ���� 
� ������(� ���� ����������� ������ ���� ���� �� ��� )�*
�
"#��	 $	%���& ����� �� �� ���������� �� ��� ��������� ������ ����� ��+�� ����� �� 6�	 $	%	
#�� ��� 
� ������� ����� �� � ����������� �� ����� ����� ���������� ���� ������ ����� ��+� ���
��� ������ �� ����������� ��� ��8����� ����� ��+�� �� ���������� ���	 #�� ��� )�*
� ������(�
��� ����� ���������� ��������� ���� ������ ����������� ����	 ���� ���� �� � ���� �����'����
��������( ���� ��� ����� ��+� �� ����� ������(� �� ��� ��8������� �� ����� ��+�� �������
������� �� ������ ��� ����� �� ��� �
� ������	

# ������������ ������ ��8������� �� ������ ������� ��� ������� ����� ��� ��1�����
����� ����� �����������	 #�� � ���� ���� ���������� ������� ��� �������� ��� �������� �����
����������� ��� ��������� �� ������������� "��������� �� �,	 %	%& ����� �������� �����������
��1������ ��� �� ����� �� #��	 $	9 �������� ���� '���� ����������� ������ "����� �����& ��� ���
���������� ��� �� ����������� �� ����� ��+� "������ �����&	 ����� �� �!���� �� ��� �� ������ ��
������ ��� ������ ������� ��� �!����� �� ��� ���� �� �� #��	 $	%	 ��� ������ ����� �� ±6 ��
��� ������� ���� ��� ������ ��������� ������ ��� ���� ������ ����� ���� 
# 	 :� #��	
$	9� �� �� �������� ���� ��� 
� ������(� "�������& '��� ���� � ��������� �� ����������� ����
5.4 · 10−8 Ω� �� 4.9 · 10−8 Ω� ��� ���� � �������� �������� �� 5.6 · 10−8 Ω� ������� ��
�������� �� ������� ����� ��+� �� 10 ��	 :� ���� ������ ��� ������� ����� ��+� ������� ��� ����
���������� ����� ��� ������ ��� ����� "wmin = 50 ��&	 ��� ���� �� ����������� ����� �����
��������� ���� ������� ���'������	 #��	 $	9� ����� ���� �� ��� )�*
� ������(� "�,�����&
����������� ��������� ���� ���������� ����������� ����	
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	� �� &���� ����� ��� 23 �� 
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���� ��
������� ����	����	� ���� ��� 	������ ��� ���� �������� "�� ���� �� ����	��� ���� ��	���
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